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mexHuJecKoe
A0 nodean / roMeLeHUe 397,1 2,11 | 397,1 397,1
g |Fedomsprmg 10,8 211| 108 | 108
y3en
Il |anekmpowum. 15,5 2,10 15,5 15,5
IV |kopudop 14,5 14,5 14,5
y |mennosou 16,1 16,1 | 16,1
MyHKM
VI |HacocHas 20,2 20,2 20,2
Vil |mambyp 6,3 6,3 6,3
Mmozo no nodeany: 480,5 480,5 | 480,5 480,5
A | |ke.1 1 npuxoxasi 9,5 9,5 9,5 2,57
2 |saHHas 34 3,4 34
3 caHysen 2,0 2,0 2,0
4 KYyXHS1 11,2 11,2 11,2
5 Xxunasi 12,1 12,1 12,1
6 Xunasi 16,4 16,4 16,4
Hmoeo: 54,6 54,6 28,5 26,1
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 1 56,6 54,6 28,5 26,1 2,0 4,1 58,7
A | |ks.2 1 |npuxoxas 6,9 6,9 6,9 2,57
2 caHysersn 5.5 5,5 556
3 Xunasi 16,3 16,3 16,3
4 KyXHSI 11,9 11,9 11,9
HWmoeo: 40,6 40,6 16,3 24,3
5 100U 2.5 2,5 50
Bcezo no ke. 2 43,1 40,6 16,3 24,3 2,5 5,0 45,6
A | |k8.3 1 npuxoxasi 8,3 8,3 83 2,57
2 caHya3ern ’ 3,8 3,8 3,8
3 KYXHS1 10,9 10,9 10,9
4 Kunasi 15,5 15,5 15,5
HMmoeo: 38,5 38,5 15,5 23,0
5 |6ankoH 1,3 1,3 4,2
6  |modxus 2,9 2,9 58
Bcezo no ke. 3 42,7 38,5 15,5 23,0 4,2 10,0 48,5
A | |ke.d 1 |npuxoxas 6,3 6,3 6,3 2,57
2 Xunasi 15,7 15,7 15,7
3 KYXHS 9,8 9,8 9,8
4 |caHysen 32 3,2 3,2
5 ™.|2apdepo6Has 4,0 4,0 4,0
HMmoeo: 39,0 39,0 15,7 23,3
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 4 40,6 39,0 15,7 23,3 1,6 54 44,4
A I |x8.5 1 npuxoxasi 55 55 55 2,57




SKCNIuKauusi

K MO3TaXXHOMY MnJiaHy

& ILomans, KB. M. = C YYETOM JTOqKHUi,
: g = o 02a/1IKOHOB, BepaHs,
E : = ; gl 2= |=< o p
3~ 3 = E g =~ H3 Hee = § 5 = E E a Teppac bes
< gz E g S = = =€ 2 g £8 28 |5% % NOHHK.KO03 .
S| 5| 2E|25| z3: | EE | E: HiNE L L T
o S =g z = g S = E = g 3 gE ez 22 325 2o 5 o
= = S a | g 2 =¥ o= g2 S = EZE|Z28| 88 [EES| £ & 5 8
= ) E & o B ) = g = = = =S |2 & = - S = 2 g
= a @ o g T s ox e = = 5 =5 g © & |Ex § s IxEE=| &2 & = =
$E| 22| £:F i | 53 = € |E2|EB| EE|5cE|8%| S8
=] = = g S [=] E E = g é‘[ E E 2 o : = e = ; = § é =
= z, = g = ¥ o £ S g~ |BA = = 52 > £ < =
& g 3 o = S m S |28 = s gE
Z R & 5 : = £g| EE
= o = =
2 2apdepobHas 4,1 4,1 4,1
3 caHysen 32 32 3,2
4 |kyxus 9,8 9,8 9,8
5 Xunasi 16,4 16,4 16,4
HWmoeo: 39,0 39,0 16,4 22,6
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 5 40,6 39,0 16,4 22,6 1,6 54 44,4
A | |ke.6 1 npuxoxasi 8,3 83 8,3 2,57
2 JKunasi 15,4 15,4 15,4
3 KYXHSI 10,9 10,9 10,9
4 caHysen 3,9 39 3,9
HWmoeo: 38,5 38,5 15,4 23,1
5  |6ankoH 1,3 1,3 4,2
6 |nodxus 2,8 2,8 57
Bcezo o ke. 6 42,6 38,5 15,4 23,1 4,1 9,9 48,4
A | |ke.7 1 |npuxoxas 6,9 6,9 6,9 2,57
2  |KyxHs 11,9 11,9 11,9
3  |xunas 16,1 16,1 16,1
4 caHysen 56 56 5,6
HUmoezo: 40,5 40,5 16,1 24,4
5  |nodxus 2,5 2,5 4,9
Bcezono ke. 7 43,0 40,5 16,1 24,4 2,5 4,9 45,4
A | |ke.8 1 |npuxoxas 9,3 9,3 9,3 2,57
2 Xunas 16,4 16,4 16,4
3  |xkunas 12,1 12,1 12,1
4 KYXHs1 11,2 11,2 11,2
5 caHyasern 2,1 2,1 2,1
6 8aHHas 34 34 3,4
HMmoeo: 54,5 54,5 28,5 26,0
7 |nodxus 2,1 2,1 4,2
Bceezo no Ke. 8 56,6 54,5 28,5 26,0 2,1 4,2 58,7
Yimoeo no 1-komMHam. 252,6 236,1 95,4 140,7 16,5 40,6 276,7
Vimozo no 2-komHam. 1132 109,1 57,0 52,1 4,1 8,3 117,4
HMmoeo no keapmupam 365,8 345,2 152,4 192,8 20,6 48,9 394,1
/ mambyp 4,2 4,2 4,2
Il Kopudop 4,7 4,7 4,7
rnomeujeHue
y6opouHozo
Il |uHeeHmapsi 3,8 3,8 3,8
IV |kopudop 37,2 37,2 37,2
V  |nugbmosoli xonn 12,3 12,3 12,3
1€CMHUYHas!
VI |knemka 11,7 11,7 11,7
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VIl |mycopokamepa 35 3,5 35
HMmoezo 77,4 77,4 77,4 77,4
Bcezo no | amaxy: 443,2 345,2 152,4 192,8 20,6 77,4 77,4| 48,9 471,5
A Il |xe.9 1 npuxoxasl 9,4 9,4 9,4 2,57
2 8aHHasi 3,5 3,5 3,5
3 caHysen 2,1 2,1 2,1
4 KYXHSI 11,2 11,2 11,2
5 Xunasi 12,1 12,1 12,1
6 Kunasi 16,4 16,4 16,4
Mmoezo: 54,7 54,7 28,5 26,2
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 9 56,8 54,7 28,5 26,2 2,1 4,2 58,9
A Il |ke.10 1 npuxoxasi 7,0 7,0 7,0 2,57
2 caHy3en 55 55 55
3 Xunas 16,5 16,5 16,5
4 KYXHS1 12,1 12,1 12,1
HMmoeo: 41,1 41,1 16,5 24,6
5  |nodxus 2,5 2,5 5,0
Bcezo no ke. 10 43,6 41,1 16,5 24,6 2,5 5,0 46,1
A Il |ke.11 1 |npuxoxas 8,4 84 84 2,57
2 caHysern 3,9 3,9 3,9
3 KYXHS1 10,8 10,8 10,8
4 Kunasi 15,5 15,5 15,5
HWmoezo: 38,6 38,6 15,5 23,1
5 |6ankoH 1,3 1,3 4,2
6 |nodxus 2,9 2,9 58
Bcezo no ke. 11 42,8 38,6 15,5 23,1 4,2 10,0 48,6
A Il |ke.12 1 npuxoxasi 6,1 6,1 6,1 2,57
2 Xunasi 15,7 15,7 15,7
3 KYXHS1 9,8 9,8 9,8
4 caHysersn 32 32 3,2
5 |eapOepobHasi 4,1 4,1 4,1
HWmoeo: 38,9 38,9 15,7 23,2
6 |6ankoH 1,6 1,6 55
Bcezo no ke. 12 40,5 38,9 15,7 23,2 1,6 55 44,4
A Il |ke.13 1 |npuxoxas 56 5,6 5,6 2,57
2 2apOepobHasi 4,1 4,1 4,1
3 caHysern 3,2 32 3,2
4 |kyxus 9,9 9,9 9,9
5 |xunas 16,5 16,5 16,5
HWmoeo: 39,3 39,3 16,5 22,8
6 6arnkoH 1,7 1,7 5,5
Bcezo no ke. 13 41,0 39,3 16,5 22,8 1,7 55 44,8
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A Il |ke.14 1 |npuxoxas 8,3 8,3 8,3 2,57
2 |xunas 154 15,4 15,4
3 KyXHs1 11,0 11,0 11,0
4 caHysern 3,9 3,9 3,9
HMmoeo: 38,6 38,6 15,4 23,2
5 |6ankon 1,3 1,3 4,2
6 |/100xus 2,9 29 58
Bcezo no ke. 14 42,8 38,6 15,4 23,2 4,2 10,0 48,6
A Il |ke.15 1 |npuxoxas 6,8 6,8 6,8 2,57
2 |KyxHs 12,1 12,1 12,1
3  |xunas 16,3 16,3 16,3
4 caHysern 5,6 56 56
HWmoeo: 40,8 40,8 16,3 24,5
5  |nodxus 2.4 24 4,9
Bcezo no ke. 15 43,2 40,8 16,3 24,5 2,4 4,9 45,7
A Il |xe.16 1 |npuxoxas 9,5 9,5 9,5 2,57
2 XKunasi 16,7 16,7 16,7
3 XKunasi 12,1 12,1 12,1
4 |KyxHs 11,2 11,2 11,2
5 caHysen 2,1 2,1 2,1
6 8aHHas 3,5 3,5 3,5
Hmoeo: 55,1 55,1 28,8 26,3
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 16 57,2 55,1 28,8 26,3 2,1 4,2 59,3
Wimoeo no 1-komHam. 253,9 237,3 95,9 141,4 16,6 40,9 278,2
Yimozo no 2-koMHam. 114,0 109,8 57,3 52,5 4,2 8,4 118,2
HWmoezo no keapmupam 367,9 347,1 153,2 193,9 20,8 49,3 396,4
/ mambyp 7,3 7,3 7,3
1 Mycopokamepa 0,5 0,5 0,5
riomeweHue ons
npoknaoku
UHXEHEPHbIX
Il |KomMmMmyHukayuid 3.6 3,6 3,6
IV |kopudop 4,8 4,8 4,8
V  |kopudop 37,1 37,1 37,1
VI |nugmosoii xonn 13,3 13,3 13,3
JIeCMHUYHasi
VIl |knemka 11,7 11,7 11,7
Vill  |nodxus 7,3 7.3 7,3
HWmoezo 85,6 78,3 85,6 7,3 85,6
Bcezo no Il amaxy: 453,5 347,1 153,2 193,9 20,8 78,3 85,6| 56,6 482,0
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A 1l |ke.17 1 |npuxoxas 9,5 9,5 9,5 2,64
2 8aHHasi 3,5 3,5 3,5
3 |canysen 2,1 2,1 2,1
4 KYXHS1 11,2 11,2 11,2
5 |xunas 12,3 12,3 12,3
6 Kunasi 16,6 16,6 16,6
Mmoeo: 55,2 55,2 28,9 26,3
7 |nodxkus 2,0 2,0 4,0
Bcezo no ke. 17 57,2 55,2 28,9 26,3 2,0 4,0 59,2
A Il |ke.18 1 |npuxoxas 7,0 7,0 7,0 2,64
2 caHy3ses 55 55 55
3 Xunasi 16,3 16,3 16,3
4 KYXHSI 12,0 12,0 12,0
Hmoeo: 40,8 40,8 16,3 24,5
5 n100Xus 2,5 2,5 50
Bcezo no ke. 18 43,3 40,8 16,3 24,5 2,5 5,0 45,8
A Il |ke.19 1 |npuxoxas 84 84 84 2,64
2 caHysen 3,9 3,9 3,9
3 |KyxHs 10,8 10,8 10,8
4 xunasi 15,4 15,4 15,4
Hmoezo: 38,5 38,5 15,4 23,1
5 |6ankoH 1,3 1,3 4,2
6 1100XUSs1 2,9 2,9 59
Bcezo no ke. 19 42,7 38,5 15,4 23,1 4,2 10,1 48,6
A Il |ke.20 1 |npuxoxas 5,9 59 5,9 2,64
2 XKunasi 15,8 15,8 15,8
3 KYXHSI 9,8 9,8 9,8
4 caHyaser 3,2 32 3,2
5 2apdepobHas 4,1 4,1 4,1
HMmoeo: 38,8 38,8 15,8 23,0
6 b6arnkoH 1,6 1,6 55
Bcezo no ke. 20 40,4 38,8 15,8 23,0 1,6 55 44,3
A I \ke.21 1 |npuxoxas 56 5,6 56 2,64
2 eapdepobHas 4,1 4,1 4,1
3 caHysen 32 3,2 3,2
4 |KyxHs 9,9 9,9 9,9
5 |xunas 16,4 16,4 16,4
HWmoeo: 39,2 39,2 16,4 22,8
6 |6ankoH 1,6 1,6 5,5
Bcezo no ks. 21 40,8 39,2 16,4 22,8 1,6 55 44,7
A Il |ke.22 1 |npuxoxas 83 8,3 8,3 2,64
2 |xunas 154 15,4 15,4
3 |KyxHs 10,8 10,8 10,8
4 caHysen 3,9 3,9 3,9
HMmoeo: 38,4 38,4 15,4 23,0
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5 |6ankoH 1,3 1,3 4,2
6 |nodxus 2,9 29 58
Bcezo no ke. 22 42,6 38,4 15,4 23,0 4,2 10,0 48,4
A Il |ke.23 1 |npuxoxas 6,9 6,9 6,9 2,64
2 KYXHSI 12,0 12,0 12,0
3 Kunasi 16,3 16,3 16,3
4 caHysern 57 57 57
Mmoeo: 40,9 40,9 16,3 24,6
5 |nodxus 2,5 2,5 4,9
Bcezo no ke. 23 43,4 40,9 16,3 24,6 2,5 4,9 45,8
A Il |xe.24 1 |npuxoxas 9,2 9,2 9,2 2,64
2 Xunasi 16,5 16,5 16,5
3 Xunasi 12,2 12,2 12,2
4 KYXHS 11,1 11,1 11,1
5 caHysern 2,1 2,1 2,1
6 8aHHasi 3,6 3,6 3,6
HMmoeo: 54,7 54,7 28,7 26,0
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 24 56,7 54,7 28,7 26,0 2,0 4,1 58,8
Hmoezo no 1-komHam. 253,2 236,6 95,6 141,0 16,6 41,0 277,6
Yimozo no 2-komHam. 113,9 109,9 57,6 52,3 4,0 8,1 118,0
HWmozo no keapmupam 367,1 346,5 153,2 193,3 20,6 49,1 395,6
| |mambyp 7,4 7.4 7,4
1 Mycopokamepa 0,5 0,5 0,5
rnomeujeHue ons
npokadku
UHXEHePHBbIX
Il |KoMMyHukayul 3,8 3,8 38
IV |kopudop 4,7 4,7 4,7
V  |Kkopudop 37,1 37,1 37,1
VI |nugmosol xonn 13,4 13,4 13,4
JIECMHUYHas1
Vil |knemka 11,8 11,8 11,8
Vill  |nodxus 7,3 7,3 7,3
HMmozo 86,0 78,7 86,0 7,3 86,0
Bcezo no lll amaxy: 453,1 346,5 153,2 193,3 20,6 78,7 86,0 56,4 481,6
A IV |ke.25 1 |npuxoxas 9,7 9,7 9,7 2,60
2 8aHHasi 3,4 3,4 34
3 caHysen 2,0 2,0 2,0
4 KyXHS 11,2 11,2 11,2
5 Xunasi 12,2 12,2 12,2
6 |xunas 16,6 16,6 16,6
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HWmoeo: 55,1 55,1 28,8 26,3
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 25 57,1 55,1 28,8 26,3 2,0 4,1 59,2
A IV |ke.26 1 |npuxoxas 7,0 7,0 7.0 2,60
2 caHysen 56 56 5,6
3 Xunasi 16,3 16,3 16,3
4 KYXHS1 12,0 12,0 12,0
HUmoeo: 40,9 40,9 16,3 24,6
5  |nodxus 24 2,4 4,9
Bcezo no ke. 26 43,3 40,9 16,3 24,6 24 4,9 45,8
A IV |ke.27 1 rpuxoxasi 84 84 8,4 2,60
2 caHysers 3,8 3,8 3,8
3 KyXHs 10,9 10,9 10,9
4 xunasi 15,5 15,5 15,5
HUmoezo: 38,6 38,6 15,5 23,1
5  |6askoH 1,2 1,2 4,1
6 |nmodxus 2,9 2,9 5,9
Bcezo no ke. 27 42,7 38,6 15,5 23,1 4,1 10,0 48,6
A IV |ke.28 1 |npuxoxas 5,9 5,9 5,9 2,60
2 Kunasi 16,0 16,0 16,0
3 KYXHSI 9,8 9,8 9,8
4 caHysersn 32 3,2 32
5 |eapdepobHasi 4,1 4,1 4,1
HMmoeo: 39,0 39,0 16,0 23,0
6 |6ankon 1,6 1,6 5,4
Bcezo no ke. 28 40,6 39,0 16,0 23,0 1,6 54 44,4
A IV |ke.29 1 npuxoxasi 56 56 5,6 2,60
2 2apdepobHasi 4,1 4,1 4,1
3 caHysern 3,2 3,2 32
4 |KyxHs 9,8 9,8 9,8
5 |xunas 16,4 16,4 16,4
HMmoeo: 39,1 39,1 16,4 22,7
6 |6ankoH 1,6 1,6 54
Bcezo no Ke. 29 40,7 39,1 16,4 22,7 1,6 54 44,5
A IV |ke.30 1 npuxoxasi 8,3 8,3 8,3 2,60
2 |xunasa 15,5 15,5 15,5
3 KYXHS1 10,9 10,9 10,9
4 caHysern 4,0 4,0 4,0
Hmozo: 38,7 38,7 15,5 23,2
5 |6ankoH 1,3 1,3 4,2
6 |nodxus 2,9 2,9 5,8
Bcezo no ke. 30 42,9 38,7 15,5 23,2 4,2 10,0 48,7
A IV |ke.31 npuxoxasi 6,9 6,9 6,9 2,60
2  |KyxHs 12,0 12,0 12,0
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3 Xunas 16,3 16,3 16,3
4 caHysern 57 57 57
HWmozo: 40,9 40,9 16,3 24,6
5  |nodxus 2,5 2,5 4,9
Bcezo o ke. 31 43,4 40,9 16,3 24,6 2,5 4,9 45,8
A IV |ke.32 1 |npuxoxas 9,4 9,4 9,4 2,60
2  |xunas 16,4 16,4 16,4
3  |xunas 12,2 12,2 12,2
4 KYXHs1 11,1 11,1 11,1
5 caHysen 2,1 2,1 2,1
6 8aHHas 3,6 3,6 3,6
HMmoeo: 54,8 54,8 28,6 26,2
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 32 56,9 54,8 28,6 26,2 2,1 4,2 59,0
Himozo no 1-komHam. 253,6 237,2 96,01 1412 16,4 40,6 277,8
Yimozo no 2-komHam. 114,0 109,9 57,4 52,5 4,1 8,3 118,2
HWmozo no keapmupam 367,6 347,1 153,4 193,7 20,5 48,9 396,0
| |mambyp 7,4 7,4 7,4
1l Mycopokamepa 0,5 0,5 0,5
nomeweHue ons
rnpoksiadku
UHXEHEPHbIX
Il |KomMmyHukayud 3,8 3,8 3,8
IV |kopudop 4,6 4,6 4,6
VvV  |kopudop 37,0 37,0 37,0
VI |nugpmosoli xonn 13,4 13,4 13,4
JIECMHUYHas
VIl |knemka 11,7 11,7 11,7
Vill  |nodxusi 7,2 7,2 7,2
HWmoezo 85,6 78,4 85,6 7,2 85,6
Bceeo no IV amaxy: 453,2 347,1 153,4 193,7 20,5 78,4 85,6 56,1 481,6
A V |ke.33 1 |npuxoxas 9,6 9,6 9,6 2,62
2 8aHHasi 3.5 3,5 3,5
3 caHysern 2,1 2,1 2.1
4 KyXHs1 11,2 11,2 11,2
5 |xunas 12,2 12,2 12,2
6 |xunas 16,6 16,6 16,6
HWmoeo: 55,2 55,2 28,8 26,4
7 |nodxus 2,0 2,0 4,1
Bcezo o ke. 33 57,2 55,2 28,8 26,4 2,0 4,1 59,3
A V  |ke.34 1 |npuxoxas 7,0 7,0 7,0 2,62
2 caHyasen 55 55 55
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XKunasi 16,1 16,1 16,1
4 KYXHSI 12,0 12,0 12,0
HMmoeo: 40,6 40,6 16,1 24,5
5  |nodxus 2,4 24 4,9
Bcezo no ke. 34 43,0 40,6 16,1 24,5 24 4,9 45,5
A V |ke.35 1 |npuxoxasi 8,4 84 8,4 2,62
2 caHysen 3,9 3,9 3,9
3 KYXHSI 10,9 10,9 10,9
4 Kunasi 15,6 15,6 15,6
HMmoeo: 38,8 38,8 15,6 23,2
5  |6arnkoH 1,2 1,2 4,1
6 |nodxus 2,9 2,9 5,8
Bcezo no ke. 35 42,9 38,8 15,6 23,2 4,1 9,9 48,7
A V |ke.36 1 |npuxoxasi 6,2 6,2 6,2 2,62
2 xunasi 15,9 15,9 15,9
3 KYXHS 9,8 9,8 9,8
4 caHysen 3,2 3,2 32
5 2apdepobHasi 4,1 4,1 4,1
HWmoeo: 39,2 39,2 15,9 23,3
6 |6ankoH 1,6 1,6 55
Bceeao no ke. 36 40,8 39,2 15,9 23,3 1,6 55 44,7
A V |ke8.37 1 |npuxoxas 5,6 56 5,6 2,62
2 2apdepobHasi 4,1 4,1 4,1
3 caHy3ern 32 32 32
4 |kyxus 9,8 9,8 9,8
5 Xunasi 16,4 16,4 16,4
Ymozo: 39,1 39,1 16,4 22,7
6 |6ankoH 1,6 1,6 5,4
Bcezo no ke. 37 40,7 39,1 16,4 22,7 1,6 54 44,5
A V |ke.38 1 npuxoxasl 8,4 8,4 8,4 2,62
2 |xunas 15,5 15,5 15,5
3 KYXHSI 10,9 10,9 10,9
4 caHysen 4,0 4,0 4,0
Hmozo: 38,8 38,8 15,5 23,3
5 |6ankoH 1,2 1,2 4,1
6 |modxus 2,9 2,9 5,8
Bcezo no ke. 38 42,9 38,8 15,5 23,3 4,1 9,9 48,7
A V |xe.39 1 npuxoxasi 6,9 6,9 6,9 2,62
2 KyXHs1 12,0 12,0 12,0
3 Xunasi 16,2 16,2 16,2
4 caHyasern 57 57 57
HMmoeo: 40,8 40,8 16,2 24,6
5 |nodxusi 2.4 2.4 49
Bcezo no ke. 39 43,2 40,8 16,2 24,6 24 4,9 45,7
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A V |ke8.40 1 |npuxoxas 9,5 9,5 9,5 2,62
2  |xunas 16,4 16,4 16,4
3 Xunasi 12,1 12,1 12,1
4 KYXHs1 11,0 11,0 11,0
5 caHysen 2,1 2,1 2,1
6 |eaHHas 3,6 3,6 3,6
HUmoeo: 54,7 54,7 28,5 26,2
7 1100KUS 2,1 2,1 4,1
Bcezo no ksa. 40 56,8 54,7 28,5 26,2 2,1 4,1 58,8
UYmozo no 1-komHam. 2535 237,3 957 141,6 16,2 40,5 277,8
Wimozo no 2-komHam. 114,0 109,9 57,3 52,6 4,1 8,2 118,1
HWmoeo no keapmupam 367,5 347,2 153,0 194,2 20,3 48,7 395,9
| |mambyp 7.4 7.4 7,4
1 Mycopokamepa 0,5 0,5 0,5
nomewyeHue ons
npoKnaoku
UHXEHEePHbIX
Il |kommyHukauuii 37 37 37
IV |kopudop 4,7 4,7 4,7
V  |kopudop 37,2 37,2 37,2
VI |nugpmosoli xonn 13,4 13,4 13,4
JIeCMHUYHast
Vil |knemka 11,7 11,7 11,7
VIl |nodxus 7.3 7,3 7.3
HMmoezo 85,9 78,6 85,9 7,3 85,9
Bcezo no V amaxy: 453,4 347,2 153,0 194,2 20,3 78,6 85,9 56,0 481,8
A VI |ke.41 1 npuxoxasi 9,5 95 9,5 2,63
2 8aHHasi 34 34 3,4
3 caHysern 2,1 2,1 2,1
4 KYXHS 11,2 11,2 11,2
5 JKunasi 12,2 12,2 12,2
6 XKunasi 16,4 16,4 16,4
Mmoeo: 54,8 54,8 28,6 26,2
7 |nodxus 2,1 2,1 4,1
Bcezo o ke. 41 56,9 54,8 28,6 26,2 2,1 4,1 58,9
A VI |ke.42 1 npuxoxasi 7,0 7,0 7,0 2,63
2 caHysersn 57 57 57
3 XKunasi 16,3 16,3 16,3
4 KyXHs1 12,0 12,0 12,0
HMmoeo: 41,0 41,0 16,3 24,7
5  |nodxus 2,5 25 5,0
Bcezo no ke. 42 43,5 41,0 16,3 24,7 2,5 5,0 46,0
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A VI |ke.43 1 |npuxoxas 84 84 8,4 2,63
2 caHysern 3,9 3,9 3,9
3 KYXHS1 10,9 10,9 10,9
4 Xunasi 15,4 15,4 15,4
HUmoeo: 38,6 38,6 15,4 23,2
5  |6ankoH 1,2 1,2 3,9
6 |nodxus 2,9 2,9 58
Bcezo no kse. 43 42,7 38,6 15,4 23,2 4,1 9,7 48,3
A VI |ke.44 1 |npuxoxas 6,1 6,1 6,1 2,63
2 xunasi 15,8 15,8 15,8
3 KYXHs1 9,8 9,8 9,8
4 caHysen 32 32 32
5 2apdepobHasi 4,0 4,0 4,0
HWmoeo: 38,9 38,9 15,8 23,1
6 |6ankoH 1,6 1,6 5,3
Bcezo o ke. 44 40,5 38,9 15,8 23,1 1,6 5,3 44,2
A VI |ke.45 1 |npuxoxas 5,6 5,6 5,6 2,63
2 2apldepobHasi 4,1 4,1 4,1
3 caHysen 3,2 32 3,2
4  |KyxHs 9,9 9,9 9,9
5 Xunas 16,3 16,3 16,3
HUmoeo: 39,1 39,1 16,3 22,8
6 |6ankoH 1,6 1,6 5,4
Bcezo no ke. 45 40,7 39,1 16,3 22,8 1,6 54 44,5
A VI |ke.46 1 npuxoxasi 8,3 8,3 8,3 2,63
2 xunasi 15,5 15,5 15,5
3 KYXHSI 10,9 10,9 10,9
4 caHysers 4,0 4,0 4,0
Wmoezo: 38,7 38,7 15,5 23,2
5  |6ankoH 1,2 1,2 4,1
6 |nodxus 29 2,9 5,9
Bcezo no ke. 46 42,8 38,7 15,5 23,2 4,1 10,0 48,7
A VI |ke.47 1 |npuxoxas 7,0 7.0 7,0 2,63
2 KYXHS 12,0 12,0 12,0
3 xunasi 16,4 16,4 16,4
4 caHyasen 56 5,6 56
HWmoeo: 41,0 41,0 16,4 24,6
5 |nodxus 2,4 2,4 4,9
Bcezo o kea. 47 43,4 41,0 16,4 24,6 2,4 4,9 45,9
A VI |ke.48 1 |npuxoxas 9,3 9,3 9,3 2,63
2 Xunas 16,5 16,5 16,5
3  |xunas 12,1 12,1 12,1
4 |KyxHs 11,1 11,1 11,1
5 caHysern 2,1 2,1 2,1
6 saHHas 3,6 3,6 3,6
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HMmoeo: 54,7 54,7 28,6 26,1
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 48 56,8 54,7 28,6 26,1 2,1 4,2 58,9
Ymozo no 1-komMHam. 253,6 237,3 95,7 141,6 16,3 40,3 277,6
Yimoezo o 2-komHam. 113,7 109,5 57,2 52,3 4,2 8,3 117,8
Himozo no keapmupam 367,3 346,8 152,9 193,9 20,5 48,6 395,4
| [mambyp 7,4 7.4 7.4
Il |mycopokamepa 0,5 0,5 0,5
nomewieHue Ons
npoknadku
UHXEHEPHbIX
Il |KomMmyHukauud 3,7 3,7 3,7
IV |kopudop 4,5 45 45
V  |kopudop 37,1 37,1 37,1
VI |nugpmosod xonn 13,4 13,4 13,4
IECMHUYHas
Vil |knemka 11,8 11,8 11,8
VIl |nodxusi 7,3 7,3 7,3
HMmoeo 85,7 78,4 85,7 7,3 85,7
Bcezo no VI amaxy: 453,0 346,8 152,9 193,9 20,5 78,4 85,7| 55,9 481,1
A Vil |ke.49 1 npuxoxasi 9,9 9,9 9,9 2,65
2 8aHHas 3,2 32 32
3 caHysern 1,8 1,8 1,8
4 KyXHs1 11,0 11,0 11,0
5 Kunasi 12,4 12,4 12,4
6 |xunas 16,3 16,3 16,3
Hmoezo: 54,6 54,6 28,7 25,9
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 49 56,7 54,6 28,7 25,9 2,1 4,2 58,8
A VIl |ke.50 1 npuxoxasi 7,1 7,1 7,1 2,65
2 caHysern 5,6 56 5,6
3  |xunas 16,3 16,3 16,3
4 KYXHSI 11,8 11,8 11,8
HWmoeo: 40,8 40,8 16,3 24,5
5  |nodxus 2,5 2,5 5,0
Bcezo no ke. 50 43,3 40,8 16,3 24,5 2,5 5,0 45,8
A Vil |ke.51 1 npuxoxasi 8,3 83 8,3 2,65
2 caHysen 3,9 3,9 3,9
3 KYXHSI 10,8 10,8 10,8
4 JKunasi 15,5 15,5 15,5
Hmoeo: 38,5 38,5 15,5 23,0
5 |6ankoH 1,3 1,3 4,2
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6 |nodxus 2,9 29 5,8
Bcezo o ke. 51 42,7 38,5 15,5 23,0 4,2 10,0 48,5
A Vil |ke.52 1 |npuxoxas 6,1 6,1 6,1 2,65
2 XKunasi 15,8 15,8 15,8
3 KYXHS1 9,8 9,8 9,8
4 caHysern 32 32 32
5 |eapdepobHasi 4,1 4,1 4,1
Mmoeo: 39,0 39,0 15,8 23,2
6 barnkoH 1,7 1,7 55
Bcezo no ke. 52 40,7 39,0 15,8 23,2 1,7 55 44,5
A Vil |k8.53 1 npuxoxasi 56 56 56 2,65
2 2apdepobHas 4,1 4,1 4,1
3 caHysers 3,1 3,1 3,1
4 KYXHSI 9,9 9,9 9,9
5 |xunas 16,3 16,3 16,3
Mmoeo: 39,0 39,0 16,3 22,7
6 |6ankoH 1,6 1,6 5,4
Bcezo no ke. 53 40,6 39,0 16,3 22,7 1,6 54 44,4
A VIl |ke.54 1 npuxoxasi 8,3 8,3 8,3 2,65
2 Xunasi 15,5 15,5 15,5
3 KYXHS1 10,8 10,8 10,8
4 caHysern 3,9 3,9 3,9
HWmoeo: 38,5 38,5 15,5 23,0
5  |6ankoH 1,2 1,2 4,1
6 |nodxus 2,9 2,9 5,9
Bcezo no ke. 54 42,6 38,5 15,5 23,0 4,1 10,0 48,5
A Vil |ke.55 1 npuxoxasi 6,9 6,9 6,9 2,65
2 |KyxHs 12,0 12,0 12,0
3 Xunasi 16,5 16,5 16,5
4 caHysern 56 56 5,6
HMmoeo: 41,0 41,0 16,5 24,5
5  |nodxus 24 2,4 4,9
Bcezo no ks. 55 43,4 41,0 16,5 24,5 2,4 4,9 45,9
A VIl |ke.56 1 |npuxoxas 9,7 97 9,7 2,65
2 Xunasi 16,3 16,3 16,3
3  |xunas 12,3 12,3 12,3
4 |KyxHs 11,1 11,1 11,1
5 caHysern 2,1 2,1 2,1
6 8aHHasi 3,5 3,5 35
HWmoeo: 55,0 55,0 28,6 26,4
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 56 57,0 55,0 28,6 26,4 2,0 4,1 59,1
Yimoezo no 1-komHam. 253,3 236,8 95,9 140,9 16,5 40,8 277,6
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Yimoeo no 2-komHam. 113,7 109,6 57,3 52,3 4,1 83 117,9
Hmozo no keapmupam 367,0 346,4 153,2 193,2 20,6 49,1 395,5
/ mambyp 7.5 7,5 7,5
1 Mycopokamepa 0,5 0,5 0,5
nomeuwjeHue 05isi
npoknadku
UHXEHEPHBIX
Il |KommMmyHukayul 3,7 3,7 3,7
IV |kopudop 4,7 4,7 4,7
V  |kopudop 36,9 36,9 36,9
VI |nugmoeoil xonn 13,4 13,4 13,4
1eCMHUYHas
VIl |knemka 11,7 11,7 11,7
Vil |nodxus 7,2 7,2 7,2
HMmozo 85,6 78,4 85,6 7,2 85,6
Bcezo no VIl amaxy: 452,6 346,4 153,2 193,2 20,6 78,4 85,6 56,3 481,1
A Vill |ke.57 1 |npuxoxas 9,7 9,7 9,7 2,62
2 |eaHHas 34 34 34
3 caHy3sen 2,1 2.1 2,1
4 |KkyxHs 11,2 11,2 11,2
5 Xunasi 12,5 12,5 12,5
6 XKunasi 16,3 16,3 16,3
HWmoezo: 55,2 55,2 28,8 26,4
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 57 57,3 55,2 28,8 26,4 2,1 4,2 59,4
A Vill |ke.58 1 |npuxoxas 6,8 6,8 6,8 2,62
2 caHysern 5,6 56 56
3 XKunasi 16,3 16,3 16,3
4 KYXHS 12,0 12,0 12,0
HWmoeo: 40,7 40,7 16,3 24,4
5  |nodxus 25 25 4,9
Bcezo no ke. 58 43,2 40,7 16,3 24,4 2,5 4,9 45,6
A Vill |ke.59 1 |npuxoxas 8,4 84 8,4 2,62
2 caHysersn 3,9 3,9 3,9
3 KYyXHs 10,9 10,9 10,9
4 XKunasi 15,6 15,6 15,6
Hmozo: 38,8 38,8 15,6 23,2
5  |6ankoH 1,3 1,3 4,2
6  |nodxus 2,9 2,9 5,8
Bcezo no ke. 59 43,0 38,8 15,6 23,2 4,2 10,0 48,8
A VIl |ke.60 1 npuxoxasi 5,8 58 58 2,62
2  |xunas 15,9 15,9 15,9
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3 KYXHA 9,8 9,8 9,8
4 caHysen 3,2 3,2 3,2
2apdepobHas 4,1 4,1 4,1
HMmoeo: 38,8 38,8 15,9 22,9
6 |b6ankoH 1,7 1,7 55
Bcezo o ke. 60 40,5 38,8 15,9 22,9 1,7 55 44,3
Vill |ke.61 1 |npuxoxas 55 55 55 2,62
2 |2apdepobHas 4,1 4,1 4,1
3 caHysen 32 3,2 3,2
4 KYXHSI 9,9 9,9 9,9
5 Kunasi 16,3 16,3 16,3
HWmoeo: 39,0 39,0 16,3 22,7
6 |6arnkoH 1,6 1,6 54
Bcezo o ke. 61 40,6 39,0 16,3 22,7 1,6 54 44,4
Vill |ke.62 1 npuxoxasi 8,4 8,4 8,4 2,62
2 Xunasi 15,5 15,5 15,5
3 KYXHS 10,9 10,9 10,9
4 caHy3sern 4,0 4,0 4,0
Hmoeo: 38,8 38,8 15,5 23,3
5 |6ankoH 1,3 1,3 4,2
6 |nodxus 2,9 2,9 5,8
Bcezo no ke. 62 43,0 38,8 15,5 23,3 4,2 10,0 48,8
Vill |ke.63 1 |npuxoxas 7,1 7,1 7,1 2,62
2 KyXHS 12,0 12,0 12,0
3  |xunas 16,5 16,5 16,5
4 caHysen 56 56 5,6
Hmoeo: 41,2 41,2 16,5 24,7
5  |nodxus 2,4 2,4 4,8
Bcezo no ke. 63 43,6 41,2 16,5 24,7 2,4 4,8 46,0
Vill |ke.64 1 |npuxoxas 9,6 9,6 9,6 2,62
2 Kunasi 16,5 16,5 16,5
3 Xurnasi 12,1 12,1 12,1
4 KYXHS1 11,1 11,1 11,1
5 caHyasen 2,0 2,0 2,0
6 8aHHasi 3,6 3,6 3,6
HMmoeo: 54,9 54,9 28,6 26,3
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 64 57,0 54,9 28,6 26,3 2,1 4,2 59,1
Himozo o 1-komHam. 253,9 237,3 96,1 141,2 16,6 40,6 277,9
Yimoezo o 2-komHam. 114,3 110,1 57,4 52,7 42 84 118,5
HWmoeo no keapmupam 368,2 347,4 153,5| 193,9 20,8 49,0 396,4
| |mambyp 7,4 7,4 7,4
1 Mycopokamepa 0,5 0,5 0,5
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nomewieHue Ornsi
npoknadku
UHXXEHEPHBIX
Il |KommyHukayui 3,7 3,7 3,7
IV |kopudop 4,7 47 4,7
V  |kopudop 36,7 36,7 36,7
VI |nugmosoii xonn 13,4 13,4 13,4
1IeCMHUYHast
Vil |knemka 11,6 11,6 11,6
VIII  |nodxus 7,3 7,3 7:3
Ymoeo 85,3 78,0 85,3 7.3 85,3
Bcezo no Vill amaxy: 453,5 347,4 153,5 193,9 20,8 78,0 853| 56,3 481,7
A IX |ke.65 1 npuxoxasi 9,7 9,7 9,7 2,62
2 8aHHasl 34 3,4 34
3 caHysern 2,1 2,1 2,1
4 KyXHs1 11,1 11,1 11,1
5 |xunas 12,3 12,3 12,3
6 |xunas 16,5 16,5 16,5
HWmoeo: 55,1 55,1 28,8 26,3
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 65 57,1 55,1 28,8 26,3 2,0 4,1 59,2
A IX |ke.66 1 |npuxoxas 6,9 6,9 6,9 262
2 caHysern 5,6 56 5,6
3 Kunas 16,7 16,7 16,7
4 KyXHSI 12,4 12,4 12,4
HWmoeo: 41,6 41,6 16,7 24,9
5  |modxus 2,4 24 4,9
Bcezo no ke. 66 44,0 41,6 16,7 24,9 2,4 4,9 46,5
A IX |ke.67 1 |npuxoxas 8,3 83 83 2,62
2 caHy3ses 3,9 3,9 3,9
3 KYXHS 10,9 10,9 10,9
4 Kunasi 15,5 15,5 15,5
HMmoeo: 38,6 38,6 15,5 23,1
5 6arnkoH 1,2 1,2 4,1
6 |nooxus 2,9 2,9 58
Bcezo no ke. 67 42,7 38,6 15,5 23,1 4,1 9,9 48,5
A IX |ke.68 1 |npuxoxas 6,0 6,0 6,0 2,62
2 Xunasi 15,8 15,8 15,8
3 KYyXHS 9,8 9,8 9,8
4 caHysern 3,2 3,2 3,2
5 e2apdepobHas 4,1 4,1 4,1
Mmoeo: 38,9 38,9 15,8 23,1
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 68 40,5 38,9 15,8 23,1 1,6 5,4 44,3
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A IX |ke.69 1 rpuxoxas 55 55 5.5 2,62
2 |eapdepobHas 4,1 4,1 4,1
3 |canysen 32 3,2 32
4 |kyxHs 9,9 9,9 9,9
5 xunasi 16,4 16,4 16,4
HMmoeo: 39,1 39,1 16,4 22,7
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 69 40,7 39,1 16,4 22,7 1,6 54 44,5
A IX |ke.70 1 |npuxoxas 8,6 86 8,6 2,62
2 Xunasi 15,5 15,5 15,5
3 KYXHS 10,9 10,9 10,9
4 caHysen 4,0 4,0 4,0
HMmoeo: 39,0 39,0 15,5 23,5
5 |6ankoH 1,2 1,2 4,1
6 |nodxus 2,9 2,9 5,8
Bcezo no ke. 70 43,1 39,0 15,5 23,5 4,1 9,9 48,9
A IX |ke.71 1 |npuxoxas 7,1 7.1 7,1 2,62
2 KYXHS1 12,0 12,0 12,0
3 XKunasi 16,5 16,5 16,5
4 caHysers 5,6 56 5,6
HMmoezo: 41,2 41,2 16,5 24,7
5  |nodxus 24 2,4 4,9
Bcezo no ke. 71 43,6 41,2 16,5 24,7 24 4,9 46,1
A IX |ke.72 1 |npuxoxasi 9,8 9,8 9,8 2,62
2 xunasi 16,5 16,5 16,5
3 Xunasi 12,1 12,1 12,1
4 KYXHs1 11,1 11,1 11,1
5 caHysen 2,0 2,0 2,0
6 eaHHasi 3,5 3,5 3,5
HWmoeo: 55,0 55,0 28,6 26,4
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 72 57,1 55,0 28,6 26,4 2,1 4,2 59,2
Yimoezo o 1-komHam. 254,6 238,4 96,4 142,0 16,2 40,4 278,8
Yimozo no 2-komHam. 114,2 110,1 57,4 52,7 4,1 8,3 118,4
HMmoeo no keapmupam 368,8 348,5 153,8 194,7 20,3 48,7 397,2
| |mambyp 7,5 7,5 7.5
1l Mycopokamepa 0,5 0,5 0,5
nomeuweHue onsi
npokadku
UHXEHePHBbIX
Il |komMMmyHukayui 3.7 3,7 37
IV |kopudop 4,7 47 47
V  |kopudop 37,0 37,0 37,0
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VI |nugmosoli xonn 13,2 13,2 13,2
JIeCMHUYHast
VIl |knemka 11,7 11,7 11,7
VIll  |nodxus 7,3 7,3 7,3
Hmoeo 85,6 78,3 85,6 7,3 85,6
Bcezo no IX amaxy: 454,4 348,5 153,8 194,7 20,3 78,3 85,6| 56,0 482,8
A X |ke.73 1 |npuxoxas 9,7 9,7 97 2,57
2 s8aHHasi 34 3,4 3,4
3 caHysen 2,0 2,0 2,0
4 KYXHS1 11,1 11,1 11,1
5 Xunasi 12,2 12,2 12,2
6 JKunasi 16,5 16,5 16,5
Hmoezo: 54,9 54,9 28,7 26,2
7 |nodxus 2,1 2,1 4,1
Bcezo no ke. 73 57,0 54,9 28,7 26,2 2,1 4,1 59,0
A X |xe.74 1 |npuxoxas 6,9 6,9 6,9 2,57
2 caHyasern 56 56 5,6
3 |xunas 16,5 16,5 16,5
4 |KyxHs 11,8 11,8 11,8
HWmoezo: 40,8 40,8 16,5 24,3
5  |nmodxus 2,5 2,5 50
Bcezo no ke. 74 43,3 40,8 16,5 24,3 2,5 5,0 45,8
A X |ke.75 1 npuxoxast 8,3 8,3 8,3 2,57
2 caHyasern 3,9 3,9 3,9
3 KYXHSs1 10,9 10,9 10,9
4 Kunasi 155 15,5 15,5
Umoeo: 38,6 38,6 15,5 23,1
5 6arnkoH 1,3 1,3 4,2
6  |nmooxus 2,9 29 57
Bcezo no ke. 75 42,8 38,6 15,5 23,1 4,2 9,9 48,5
A X |ke.76 1 |npuxoxas 6,0 6,0 6,0 2,57
2  |xunas 15,8 15,8 15,8
3 KYXHS 9,9 9,9 9,9
4 caHysen 3,2 3,2 32
5 e2apOepobHasi 4,1 4,1 4,1
HMmoeo: 39,0 39,0 15,8 23,2
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 76 40,6 39,0 15,8 23,2 1,6 54 44,4
A X |ke.77 1 |npuxoxas 55 55 55 2,57
2 2apdepobHasi 4,2 4,2 4,2
3 caHysersn 3,2 3,2 3,2
4 KYXHSI 9,9 9,9 9,9
5 |xunas 16,5 16,5 16,5
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HMmoeo: 39,3 39,3 16,5 22,8
6 |6ankoH 1,6 1,6 55
Bcezo no ke. 77 40,9 39,3 16,5 22,8 1,6 55 44,8
A X |ke.78 1 npuxoxasi 8,3 83 8,3 2,57
2 |xunasa 15,4 15,4 15,4
3 |KyxHs 10,8 10,8 10,8
4 caHyses 4,0 4,0 4,0
HMmoeo: 38,5 38,5 15,4 23,1
5 |6ankoH 1,3 1,3 4,2
6 r1o00xus 2,9 2,9 58
Bcezo o ke. 78 42,7 38,5 15,4 23,1 4,2 10,0 48,5
A X |ke.79 1 |npuxoxas 6,8 6,8 6,8 2,57
2 KyXHS1 11,9 11,9 11,9
3 xunasi 16,4 16,4 16,4
4 caHysern 57 57 57
HNmoeo: 40,8 40,8 16,4 24,4
5  |nodxus 2,5 2,5 5,0
Bcezo no ke. 79 43,3 40,8 16,4 24,4 2,5 5,0 45,8
A X |ke.80 1 |npuxoxas 10,0 10,0 10,0 2,57
2 Kunasi 16,6 16,6 16,6
3 Xunas 12,2 12,2 12,2
4  |KyxHs 11,1 11,1 11,1
5 caHysern 1,9 1,9 1,9
6 8aHHas 38 3,3 3,3
Mmoeo: 55,1 55,1 28,8 26,3
7 |nodxus 2,1 2,1 4,1
Bcezo o ke. 80 57,2 55,1 28,8 26,3 2,1 4,1 59,2
Yimozo o 1-komHam. 253,6 237,0 96,1 140,9 16,6 40,8 277,8
Yimoeo o 2-komHam. 114,2 110,0 57,5 52,5 4,2 8,2 118,2
HMmoezo no keapmupam 367,8 347,0 153,6 193,4 20,8 49,0 396,0
| |mambyp 7,4 7,4 7,4
1 Mycopokamepa 0,5 0,5 0,5
riomeuwieHue Onsi
npoknadku
UHXEHEPHbIX
1l |kommyHukauui 37 3,7 37
IV |kopudop 4,7 4,7 4,7
V  |kopudop 37,1 371 37,1
VI |nugpmoseol xon 13,3 13,3 13,3
IeCMHUYHast
Vil |knemka 11,8 11,8 11,8
Vill  |nodxusi 7,2 7,2 7,2
Mmozo 85,7 78,5 85,7 7,2 85,7
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Bcezo no X amaxy: 453,5 347,0 153,6 193,4 20,8 78,5 85,7| 56,2 481,7
A Xl |ke.81 1 |npuxoxas 9,7 9,7 9,7 2,57
2 8aHHas 34 3,4 3,4
3 caHysern 2,1 2,1 2,1
4 KYXHSI 11,0 11,0 11,0
5  |kunas 12,3 12,3 12,3
6 |xunas 16,5 16,5 16,5
HMmoeo: 55,0 55,0 28,8 26,2
7 |nodxus 2,1 2,1 4,1
Bcezo o ke. 81 57,1 55,0 28,8 26,2 2,1 4,1 59,1
A Xl |«e.82 1 |npuxoxas 7,0 7,0 7,0 2,57
2 caHysern 5,6 56 5,6
3 Kunas 16,3 16,3 16,3
4 KYXHS1 11,9 11,9 11,9
HWmoezo: 40,8 40,8 16,3 24,5
5  |nodxus 2,5 2,5 4,9
Bcezo no ke. 82 43,3 40,8 16,3 24,5 2,5 4,9 45,7
A Xl |ks.83 1 |npuxoxas 8,3 8,3 83 2,57
2 caHysen 3,9 3,9 3,9
3 |KkyxHs 10,9 10,9 10,9
4 |xunas 15,4 15,4 15,4
HWmoeo: 38,5 38,5 15,4 23,1
5  |6ankoH 1,2 1,2 4,0
6 1100KUS1 2,9 29 58
Bceezo no ke. 83 42,6 38,5 15,4 23,1 4,1 9,8 48,3
A Xl |ke.84 1 npuxoxasi 59 5,9 59 2,57
2 XXunasi 15,9 15,9 15,9
3 |KyxHs: 9,9 9,9 9,9
4 caHysen 32 3,2 32
5 2apdepobHasi 4,1 4,1 4,1
Mmoeo: 39,0 39,0 15,9 23,1
6 bankoH 1,6 1,6 53
Bceeo no ke. 84 40,6 39,0 15,9 23,1 1,6 5,3 44,3
A Xl |ke.85 1 |npuxoxas 55 55 55 2,57
2 2apdepobHasi 4,2 4,2 4,2
3 caHysern 3.2 32 3,2
4 |kyxus 9,8 9,8 9,8
5 XKunasi 16,4 16,4 16,4
HMmoezo: 39,1 39,1 16,4 22,7
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 85 40,7 39,1 16,4 22,7 1,6 54 44,5
A Xl |ke.86 npuxoxasi 8,4 84 84 2,57
2 |xunas 15,4 15,4 15,4
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3 KYXHS1 10,9 10,9 10,9
4 caHysen 3,9 3,9 3,9
HMmoeo: 38,6 38,6 15,4 23,2
5 |6ankoH 1,3 1,3 4,2
6 |nodxus 29 2,9 59
Bcezo o ke. 86 42,8 38,6 15,4 23,2 4,2 10,1 48,7
A Xl |«8.87 1 |npuxoxas 7,0 7.0 7,0 2,57
2 KYXHSI 12,1 12,1 12,1
3 Xunasi 16,2 16,2 16,2
4 caHysen 56 56 56
HWmoeo: 40,9 40,9 16,2 24,7
5  |nodxus 2,4 2,4 4,8
Bcezo no ke. 87 43,3 40,9 16,2 24,7 24 4,8 45,7
A Xl |ke.88 1 |npuxoxas 9,6 9,6 9,6 2,57
2  |xunas 16,6 16,6 16,6
3  |xunas 12,0 12,0 12,0
4 KYXHS1 11,0 11,0 11,0
5 caHysen 2,0 2,0 2,0
6 8aHHas 3,5 3,5 3,5
HUmoeo: 54,7 54,7 28,6 26,1
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 88 56,7 54,7 28,6 26,1 2,0 4,1 58,8
UYimoezo no 1-komMHam. 253,3 236,9 95,6 141,3 16,4 40,3 277,2
Yimozo o 2-komMHam. 113,8 109,7 57,4 52,3 4,1 8,2 117,9
HWmozo no keapmupam 367,1 346,6 153,0 193,6 20,5 48,5 395,1
| |mambyp 7.4 7,4 7,4
Il |Mycopokamepa 0,5 0,5 0,5
rniomewieHue ons
npoknaoku
UHXXEeHePHbIX
Il |kommyHukayui 37 3,7 3,7
IV |kopudop 4,7 4,7 4,7
V  |kopudop 36,8 36,8 36,8
VI |nugpmoeol xonn 13,3 13,3 13,3
NIECMHUYHas
VIl |knemka 11,7 11,7 11,7
VIII  |nodxusi 7,3 7,3 7,3
Mmoeo 85,4 78,1 85,4 7,3 85,4
Bcezo no Xl amaxy: 452,5 346,6 153,0 193,6 20,5 78,1 85,4| 55,8 480,5
A Xl |ke.89 npuxoxasi 9,7 9,7 9,7 2,62
2 8aHHasi 3,4 34 3,4
caHysen 2,1 2,1 2,1
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4 KYyXHS 11,1 11,1 11,1
5 Xunas 12,3 12,3 12,3
6 |xunas 16,4 16,4 16,4
HMmoezo: 55,0 55,0 28,7 26,3
7 |nodxus 2,0 2,0 4,1
Bcezo o ke. 89 57,0 55,0 28,7 26,3 2,0 4,1 59,1
A Xll |ke.90 1 |npuxoxas 7,0 7,0 7,0 2,62
2 caHysen 55 55 55
3 Xxunas 16,4 16,4 16,4
4 |KyxHs 12,0 12,0 12,0
HMmoeo: 40,9 40,9 16,4 24,5
5 nooxus 2.4 2.4 4,9
Bcezo no ke. 90 43,3 40,9 16,4 24,5 2,4 4,9 45,8
A Xll |ke.91 1 |npuxoxas 8,5 8,5 85 2,62
2 caHysen 3,9 3,9 3,9
3  |kyxHs 10,9 10,9 10,9
4  |xunas 15,4 15,4 15,4
HMmoeo: 38,7 38,7 15,4 23,3
5 |6ankoH 1,2 1,2 4,1
6  |nooxus 2,9 2,9 59
Bcezo no ke. 91 42,8 38,7 15,4 23,3 4,1 10,0 48,7
A Xl |ka.92 1 |npuxoxas 58 58 58 2,62
2 |xunas 15,9 15,9 15,9
3 KYXHSI 9,9 9,9 9,9
4 caHysersn 32 32 3,2
5 2apOepobHasi 4.1 4,1 41
HMmoeo: 38,9 38,9 15,9 23,0
6 barnkoH 1,6 1,6 55
Bcezo no ke. 92 40,5 38,9 15,9 23,0 1,6 55 44,4
A Xll |ke.93 1 |npuxoxas 56 56 56 2,62
2 |eapdepobHas 4.1 4,1 4,1
3 caHy3sersn 32 3,2 32
4 KYXHs1 9,8 9,8 9,8
5 |xunas 16,3 16,3 16,3
Hmoezo: 39,0 39,0 16,3 22,7
6 b6arkoH 1,6 1,6 54
Bcezo o ke. 93 40,6 39,0 16,3 22,7 1,6 54 44,4
A Xl |ke.94 1 npuxoxasi 84 84 84 2,62
2 Jxunasi 154 15,4 15,4
3 KYXHs1 10,9 10,9 . 10,9
4 caHysen 39 39 3,9
Hmoeo: 38,6 38,6 15,4 23,2
5 |6ankoH 1,2 1,2 4,1
6  |nodxus 3,0 3,0 5,9
Bcezo no ke. 94 42,8 38,6 15,4 23,2 4,2 10,0 48,6
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A Xll |ke.95 1 npuxoxasi 7,0 7,0 7,0 2,62
2 KYXHS1 12,0 12,0 12,0
3  |xunas 16,3 16,3 16,3
4 caHysen 5,5 55 55
Mmoeo: 40,8 40,8 16,3 24,5
5  |nodxus 2,5 2,5 4,9
Bceeo no ke. 95 43,3 40,8 16,3 24,5 2,5 4,9 45,7
A Xl |ke.96 1 |npuxoxas 9,6 9,6 9,6 2,62
2 XKunas 16,6 16,6 16,6
3 Xunasi 12,2 12,2 12,2
4 |KyxHs 11,1 11,1 11,1
5 caHysen 2,0 2,0 2,0
6 8aHHasi 3,5 35 3,5
HMmoezo: 55,0 55,0 28,8 26,2
7 |nodxus 2,1 2,1 4,1
Bcezo o ke. 96 57,1 55,0 28,8 26,2 2,1 4,1 59,1
UYimoezo no 1-komMHam. 253,3 236,9 95,7 141,2 16,4 40,7 277,6
Yimoeo no 2-komHam. 114,1 110,0 57,5 52,5 4,1 8,2 118,2
HMmoezo no keapmupam 367,4 346,9 153,2 193,7 20,5 48,9 395,8
| |mambyp 7,4 7.4 7,4
Il Mycopokamepa 0,5 0,5 0,5
nomewieHue 0ns
npoknadku
UHXEHEePHBIX
Il |KoMmyHuKayul 3,6 3,6 3,6
IV |kopudop 4,8 4,8 4,8
V  |kopudop 36,7 36,7 36,7
VI  |nugpmosod xonn 13,3 13,3 13,3
1lecmHuYHasi
VIl |knemka 11,8 11,8 11,8
VIl  |nooxus 7,3 7,3 7,3
Mmoezo 85,4 78,1 85,4 7,3 85,4
Bcezo no Xll amaxy: 452,8 346,9 153,2 193,7 20,5 78,1 85,4 56,2 481,2
A Xl |ke.897 1 |npuxoxas 9,7 9,7 9,7 2,58
2 saHHasi 34 3,4 3,4
3 caHysern 2,1 2,1 2,1
4  |KyxHS 11,1 11,1 11,1
5 |xunas 12,1 12,1 12,1
6 |xunas 16,5 16,5 16,5
HWmoeo: 54,9 54,9 28,6 26,3
7 |nodxus 2,0 2,0 4,1
Bcezo no ke. 97 56,9 54,9 28,6 26,3 2,0 4,1 59,0
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A Xlll |ke.98 1 |npuxoxas 7,0 7,0 7,0 2,58
2 caHysen 56 56 5,6
3  |xunas 16,4 16,4 16,4
4 KYXHS 12,0 12,0 12,0
Mmoeo: 41,0 41,0 16,4 24,6
5  |nodxus 2,5 2,5 4,9
Bcezo o ks. 98 43,5 41,0 16,4 24,6 2,5 4,9 45,9
A Xlll |ke.99 1 |npuxoxas 83 83 8,3 2,58
2 caHysern 3,9 3,9 3,9
3 KYXHS1 10,9 10,9 10,9
4 Xunasi 15,5 15,5 15,5
HMmoeo: 38,6 38,6 15,5 23,1
5 |6ankoH 1,2 1,2 4,0
6  |modxus 29 2,9 5,8
Bcezo no ke. 99 42,7 38,6 15,5 23,1 4,1 9,8 48,4
A Xl |ke.100 1 |npuxoxas 6,0 6,0 6,0 2,58
2  |xkunas 15,9 15,9 15,9
3 KYXHSI 9,9 9,9 9,9
4 caHysern 3,2 32 3,2
5 |eapdepobHasi 4,1 4,1 4,1
Hmoezo: 39,1 39,1 15,9 23,2
6 |bankoH 1,7 1,7 55
Bceeo no ke. 100 40,8 39,1 15,9 23,2 1,7 55 44,6
A Xlll |ke.101 1 |npuxoxas 55 55 55 2,58
2 2apOepobHas 4,1 4,1 4,1
3 caHysern 3,1 3,1 3,1
4 KyXHS1 9,9 9,9 9,9
5 Kunasi 16,4 16,4 16,4
HMmoezo: 39,0 39,0 16,4 22,6
6 6arnkoH 1,6 1,6 54
Bcezo no ke. 101 40,6 39,0 16,4 22,6 1,6 54 44,4
A Xl |ke.102 1 |npuxoxas 8,5 85 85 2,58
2 Xunasi 154 15,4 15,4
3 KyXHs1 10,9 10,9 10,9
4 caHysen 3,9 3,9 3,9
HNmoeo: 38,7 38,7 15,4 23,3
5 |6ankoH 1,2 1,2 4,1
6 100XKus1 2,9 2,9 58
Bcezo no ke. 102 42,8 38,7 15,4 23,3 4,1 9,9 48,6
A Xl |ke.103 1 |npuxoxas 6,9 6,9 6,9 2,58
2  |KyxHs 12,0 12,0 12,0
3  |xunas 16,3 16,3 16,3
4 caHysern 55 55 55
HWmoezo: 40,7- 40,7 16,3 24,4
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5  |nodxus 2,4 24 4,9
Bcezo no ke. 103 43,1 40,7 16,3 24,4 2,4 4,9 45,6
A Xlll |ke.104 1 |npuxoxas 9,5 9,5 9,5 2,58
2 Kunasi 16,6 16,6 16,6
3 Xunasi 12,1 12,1 12,1
4 |KyxHs 11,0 11,0 11,0
5 caHysen 2,1 2,1 2,1
6 g8aHHasi 3.5 3,5 35
HUmoeo: 54,8 54,8 28,7 26,1
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 104 56,9 54,8 28,7 26,1 2,1 4,2 59,0
Wmozo o 1-koMHam. 253,5 237,1 95,9 141,2 16,4 40,4 277,5
Vimoeo o 2-komHam. 113,8 109,7 57,3 52,4 4,1 8,3 118,0
HMmoezo no keapmupam 367,3 346,8 153,2 193,6 20,5 48,7 395,5
| |mambyp 7,4 7.4 7.4
1 Mycopokamepa 0,5 0,5 0,5
rnomeujeHue ons
npoknaoku
UHXEHEePHbIX
Il |kommyHukayui 3,7 37 3,7
IV |kopudop 4,7 4,7 4,7
V  |kopudop 36,8 36,8 36,8
VI |nugpmosoi xonn 13,3 13,3 13,3
JIeCMHUYHast
Vil |knemka 11,8 11,8 11,8
VIl |nodxusi 7,3 7,3 7,3
Wmozo 85,5 78,2 85,5 7,3 85,5
Bcezo no Xlll amaxy: 452,8 346,8 153,2 193,6 20,5 78,2 85,5 56,0 481,0
A XIV |ke.105 1 npuxoxasi 9,6 9,6 9,6 2,60
2 eaHHasi 3,4 3,4 34
3 caHysen 2,1 2.1 2,1
4 KYXHS1 11,1 11,1 11,1
5 XKunasi 12,2 12,2 12,2
6 |xunas 16,4 16,4 16,4
Mmoeo: 54,8 54,8 28,6 26,2
7 |nodxus 2,1 2,1 4,1
Bcezo no ke. 105 56,9 54,8 28,6 26,2 2,1 4,1 58,9
A XIV |ke.106 1 |npuxoxas 7,1 7,1 7.1 2,60
2 caHy3en 56 56 56
3 |xkunas 16,3 16,3 16,3
4 KYXHS1 12,1 12,1 12,1
HMmoeo: 41,1 41,1 16,3 24,8
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5  |nodxus 25 25 4,9
Bcezo no ke. 106 43,6 41,1 16,3 24,8 2,5 4,9 46,0
A XV |ke.107 1 |npuxoxas 8,3 8,3 83 2,60
2 caHysen 4,0 4,0 4,0
3 KYXHS1 10,9 10,9 10,9
4 Kunas 15,5 15,5 15,5
Hmozo: 38,7 38,7 15,5 23,2
6arkoH 1,2 1,2 4,1
6 |nodxus 2,9 29 58
Bcezo no ke. 107 42,8 38,7 15,5 23,2 4,1 9,9 48,6
A XIV |ke.108 1 |npuxoxas 58 5,8 5,8 2,60
2 Kunasi 15,9 15,9 15,9
3 KYXHS1 9,9 9,9 9,9
4 caHysen 3,2 3,2 3,2
5 |2apdepobHas 4,1 4,1 4,1
HMmoeo: 38,9 38,9 15,9 23,0
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 108 40,5 38,9 15,9 23,0 1,6 54 44,3
A XIV |ke.109 1 |npuxoxas 5,6 56 56 2,60
2 |eapOepobHas 4,1 4,1 4,1
3 caHysen 32 32 3,2
4 KYXHS1 9,9 9,9 9,9
5 XKunasi 16,4 16,4 16,4
HWmoeo: 39,2 39,2 16,4 22,8
6 |6ankoH 1,6 1,6 54
Bcezo no ke. 109 40,8 39,2 16,4 22,8 1,6 54 44,6
A XV |ke.110 1 rpuxoxasi 8,4 84 8,4 2,60
2 Xunas 15,5 15,5 15,5
3 KYXHs1 10,9 10,9 10,9
4 caHyasern 39 39 3,9
HMmoezo: 38,7 38,7 15,5 23,2
6asikoH 1,2 1,2 4,1
6 7100KUS1 29 2,9 59
Bcezo no ke. 110 42,8 38,7 15,5 23,2 4,1 10,0 48,7
A XV |ke.111 1 |npuxoxas 7,0 7,0 7,0 2,60
2 KYXHS1 12,0 12,0 12,0
3 JKunasi 16,3 16,3 16,3
4 caHyasen 5,6 5,6 56
HMmoeo: 40,9 40,9 16,3 24,6
5  |modxus 2,4 2.4 4,9
Bcezo no ke. 111 43,3 40,9 16,3 24,6 24 4,9 45,8
A XIV |ke.112 1 npuxoxasi 9,5 9,5 95 260
2 Xunasi 16,5 16,5 16,5
3  |xunas 12,1 12,1 1241
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4 KYXHS1 11,1 11,1 11,1
caHy3ern 2,1 2,1 2,1
6 |eaHHas 3,5 3,5 3,5
HMmoeo: 54,8 54,8 28,6 26,2
7 |nodxus 2,1 2,1 4,2
Bcezo no ke. 112 56,9 54,8 28,6 26,2 2,1 4,2 59,0
Yimozo no 1-komHam. 253,8 237,5 95,9 141,6 16,3 40,5 278,0
Vimozo ro 2-komHam. 113,8 109,6 57,2 52,4 4,2 8,3 117,9
HMmoezo no keapmupam 367,6 347,1 153,1 194,0 20,5 48,8 395,9
| |mambyp 7,4 7,4 7.4
Il Mycopokamepa 0,5 0,5 0,5
rnomeuweHue onsi
npoknadku
UHXEHEPHbIX
Il |KomMmyHukayud 37 37 3.7
IV |kopudop 4,7 4,7 4,7
V  |kopudop 36,9 36,9 36,9
VI |nugpmosol xonn 13,3 13,3 13,3
JNieCmHUYHasi
Vil |knemka 11,7 11,7 11,7
VIl |nodxus 7,3 7,3 7,3
Mmoeo 85,5 78,2 85,5 7,3 85,5
Bcezo no XIV amaxy: 453,1 347,1 153,1 194,0 20,5 78,2 85,5 56,1 481,4
A XV |ke. 113 1 |npuxoxas 9,7 9,7 9,7 2,58
2 g8aHHasl 3,5 35 3,5
3 caHysern 2,1 2,1 2,1
4 KyXHS1 11,2 11,2 11,2
5 xunasi 12,3 12,3 12,3
6 Kunas 16,5 16,5 16,5
Hmoeo: 55,3 55,3 28,8 26,5
7 |nodxus 2,1 2,1 4,1
Bcezo no ke. 113 57,4 55,3 28,8 26,5 2,1 4,1 59,4
A XV |ke.114 1 |npuxoxas 7,1 7,1 7,1 2,58
2 |canysen 56 56 56
3  |xunas 16,3 16,3 16,3
4 KYXHS1 12,1 12,1 12,1
HMmoeo: 41,1 41,1 16,3 24,8
5  |nodxusa 2,4 2,4 4,9
Bcezo no ke. 114 43,5 41,1 16,3 24,8 2,4 4,9 46,0
A XV |ke.115 1 |npuxoxas 8,4 8,4 8,4 2,58
2 caHysen 4,0 4,0 4,0
3 |KyxHs 11,0 11,0 11,0




Skcnnukauusa
K MO3TaXHOMY MNJlaHy

E - 5 = E g 2 E £ :E :'g Teppac 0e3
g = E = 5 g . =3 13 nee 2 :E 2 S REE £ NOHH:K.K03(.
s g2 |£8 £z & $E 2 s _|8%| £2 |EE¢2
S| 5| EE|28| gi= EE | 53 ST |cz| 22 |255| 8| B
= | 6| 25| 28| ¢ £ | EE = |28|g2| 2 |35C| 85| £¢
& g |g2| €% g | ZE z E |25 |ci| e |E5E|5E| 55
|25 58 SE| EE | S |EZ|c5| 5|85 Ss)| 22
= 2| F% g | 8 : |5 |8F| B 28 e B
I el : ZF| 8
4 Kunasi 15,6 15,6 15,6
HWmoezo: 39,0 39,0 15,6 23,4
5  |6arnkoH 1,2 1,2 4,1
6 |n10dxus 3,0 3,0 59
Bcezo no ke. 115 43,2 39,0 15,6 23,4 4,2 10,0 49,0
A XV |ke.116 1 |npuxoxasi 6,0 6,0 6,0 2,58
2  |xunas 15,9 15,9 15,9
3 KYXHS 10,0 10,0 10,0
4 caHysern 3,2 32 32
5 |eapdepobHasi 4,1 4,1 4,1
HMmoeo: 39,2 39,2 15,9 23,3
6 |bankoH 1,7 1,7 56
Bceeo nno ke. 116 40,9 39,2 15,9 23,3 1,7 5,6 44,8
A XV |ke.117 1 |npuxoxas 55 55 55 2,58
2 e2apOepobHasi 4,1 4,1 4,1
3 caHysen 3,2 32 32
4 KYXHsA 9,8 9,8 9,8
5 |xunas 16,4 16,4 16,4
HMmoeo: 39,0 39,0 16,4 22,6
6 6arnkoH 1,6 1,6 54
Bcezo no ke. 117 40,6 39,0 16,4 22,6 1,6 54 44,4
A XV |ke.118 1 |npuxoxas 84 8,4 84 2,58
2 Xunasi 15,4 15,4 15,4
3  |kyxHs 10,9 10,9 10,9
4 caHysen 4,0 4,0 4,0
HMmoeo: 38,7 38,7 15,4 23,3
5  |6ankoH 1,2 1,2 4,1
6 n1odxusi 3,0 3,0 6,0
Bcezo no ke. 118 42,9 38,7 15,4 23,3 4,2 10,1 48,8
A XV |ke.119 1 npuxoxasi 7,0 7,0 7,0 2,58
2 KYXHSI 12,0 12,0 12,0
3  |xunas 16,3 16,3 16,3
4 caHysersn 55 55 55
HUmoeo: 40,8 40,8 16,3 24,5
5 |modxus 2,5 2,5 50
Bcezo no ke. 119 43,3 40,8 16,3 24,5 2,5 5,0 45,8
A XV |ke.120 1 |npuxoxas 9,5 9,5 9,5 2,58
2 |xunas 16,5 16,5 16,5
3  |xunas 12,1 12,1 12,1
4 KYXHS1 11,0 11,0 11,0
5 caHysern 2,1 2,1 2,1
6 8aHHasi 3,5 3,5 3,5
HMmoeo: 54,7 54,7 28,6 26,1
7 |nodxus 2,1 2,1 4,1
Bcezo no ke. 120 56,8 54,7 28,6 26,1 2,1 4,1 58,8
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HYimoeo no 1-komHam. 254,4 237,8 95,9 141,9 16,6 41,0 278,8
Yimozo o 2-komHam. 114,2 110,0 57,4 52,6 4,2 8,2 118,2
HUmozo no keapmupam 368,6 347,8 153,3 194,5 20,8 49,2 397,0
| |mambyp 7,4 7.4 7.4
Il |mycopokamepa 0,5 0,5 0,5
nomeuwieHue 0rnsi
npoknadku
UHXEHEPHbIX
Il |kommMmyHukauud 37 37 3,7
IV |kopudop 4,6 4,6 4,6
V  |kopudop 36,7 36,7 36,7
VI |nugpmoeol xomn 13,3 13,3 13,3
necmHuyHasi
Vil |knemka 11,7 11,7 11,7
VIl |nodxusi 7,2 7,2 7,2
Hmoezo 85,1 77,9 85,1 7,2 85,1
Bcezo no XV amaxy: 453,7 347,8 153,3 194,5 20,8 77,9 85,1 56,4 482,1
A XVl |ke.121 1 npuxoxasi 9,6 9,6 9,6 2,61
2 8aHHas 3,4 34 3,4
3 caHya3ern 2,1 2,1 2,1
4 |KyxHs 11,1 11,1 11,1
5 |xunas 12,3 12,3 12,3
6 Xunasi 16,4 16,4 16,4
HWmoeo: 54,9 54,9 28,7 26,2
7 |nodxus 2,0 2,0 4,1
Bcezo no ks. 121 56,9 54,9 28,7 26,2 2,0 4,1 59,0
A XVI |ke.122 1 |npuxoxas 7,1 7,1 7,1 2,61
2 caHysern 55 55 55
3 JKunasi 16,4 16,4 16,4
4 KYXHSI 12,1 12,1 12,1
Mmoeo: 41,1 41,1 16,4 24,7
5  |nodxus 24 2,4 4,9
Bcezo no ke. 122 43,5 41,1 16,4 24,7 24 4,9 46,0
A XVl |k8.123 1 |npuxoxas 84 84 8,4 2,61
2 caHysern 4,0 4,0 4,0
3 KYXHS1 10,9 10,9 10,9
4 xunasi 15,6 15,6 15,6
HMmoeo: 38,9 38,9 15,6 23,3
b6arnkoH 2,4 2.4 8,0
6 |nodxus 29 2,9 57
Bcezo no ke. 123 44,2 38,9 15,6 23,3 5.3 13,7 52,6
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A XVl |ke.124 1 |npuxoxas 6,0 6,0 6,0 2,61
2 |xunas 15,9 15,9 15,9
3 KYyXHS 9,9 9,9 9,9
4 caHyasersn 3,2 32 3,2
5 2apdepobHasi 4,2 4,2 4,2
HMmoezo: 39,2 39,2 15,9 23,3
6 b6ankoH 3,0 3,0 9,9
Bcezo o ke. 124 42,2 39,2 15,9 23,3 3,0 9,9 49,1
A XVI |ke.125 1 npuxoxasi 55 55 55 2,61
2 eapdepobHas 4,1 4,1 41
3 caHyasen 32 3,2 3,2
4  |KyxHs 9,8 9,8 9,8
5 |xunas 16,4 16,4 16,4
HWmoeo: 39,0 39,0 16,4 22,6
6 |bankoH 3,0 3,0 9,9
Bcezo no ke. 125 42,0 39,0 16,4 22,6 3,0 9,9 48,9
A XVI |ke.126 1 |npuxoxas 8,4 84 8,4 2,61
2 Xunas 15,4 15,4 15,4
3 KYXHS1 10,9 10,9 10,9
4 caHysen 4,0 4,0 4,0
HUmoeo: 38,7 38,7 15,4 23,3
5 barnkoH 2,4 2,4 8,0
6  |modxus 2,9 2,9 5,9
Bcezo no ke. 126 44,0 38,7 15,4 23,3 5,3 13,9 52,6
A XVI |ke.127 1 |npuxoxas 7,0 7,0 7,0 2,61
2 |kyxus 12,0 12,0 12,0
3  |xunas 16,4 16,4 16,4
4 caHyasern 5,6 56 5,6
HWmoeo: 41,0 41,0 16,4 24,6
5  |nooxus 25 2,5 4,9
Bcezo no ke. 127 43,5 41,0 16,4 24,6 2,5 4,9 45,9
A XVI |ke.128 1 npuxoxasi 9,5 9,5 9,5 2,61
2  |xunas 16,5 16,5 16,5
3  |xunas 12,2 12,2 12,2
4 KYXHS1 11,1 11,1 11,1
5 caHysen 2,1 2,1 2,1
6 8aHHas 3,5 35 3.5
HWmoezo: 54,9 54,9 28,7 26,2
7 |nodxus 2.1 2.1 4,1
Bceezo no ke. 128 57,0 54,9 28,7 26,2 2,1 4,1 59,0
I
Mimozo no 1-komHam. 259,4 237,9 96,1 141,8 21,5 57,2 295,1
Wmoezo no 2-komHam. 113,9 109,8 57,4 52,4 4,1 8,2 118,0
HWmozo no keapmupam 373,3 347,7 153,5 194,2 25,6 65,4 413,1
|
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! mambyp 7,5 75 7,5
1 Mycopokamepa 0,5 0,5 0,5
nomeuwjeHue ons
npoknadku
UHXEHEPHBIX
Il |KommyHukauud 3,7 3,7 3,7
IV |kopudop 4,8 4,8 4,8
V  |kopudop 36,9 36,9 36,9
VI |nugpmosoi xomnn 13,3 13,3 13,3
nlecmHuYHasi
VIl |knemka 11,8 11,8 11,8
Vill  |nodxus 7,2 7,2 7,2
HWmoezo 85,7 78,5 85,7 7,2 85,7
Bcezo no XVI amaxy: 459,0 347,7 153,5 194,2 25,6 78,5 85,7 72,6 498,8
A XVl |ke.129 1 npuxoxasi 16,5 16,5 16,5 2,59
2 caHysern 5,6 56 5,6
3 |xunas 12,2 12,2 12,2
4 Jxunasi 12,4 12,4 12,4
5 |xunas 15,8 15,8 15,8
6 KyXHsi-cmoriosast 27,5 27,5 27,5
7 2apdepobHasi 3,6 3,6 3,6
8 caHysen 4,3 4,3 4,3
HWmoeo: 97,9 97,9 40,4 57,5
9 |nodxus 2,1 2,1 4,1
10 |nodxus 2,4 2,4 4,8
Bcezo no ke. 129 102,4 97,9 40,4 57,5 4,5 8,9 106,8
A XVIl |ke.130 1 npuxoxasi 13,8 13,8 13,8 2,59
2 s8aHHasi 4,0 4,0 4,0
3 KyXHs1-crmorsosasi 28,6 28,6 28,6
4 |xunas 17,3 17,3 17,3
5 |xunas 10,2 10,2 10,2
6 caHysen 32 3,2 3,2
7 |eapdepobHas 4,1 4,1 4,1
HWmoezo: 81,2 81,2 27,5 53,7
8 b6arnkoH 2,4 2,4 8,1
100XKUST 29 2,9 58
10 |6ankoH 2,9 29 9,8
Bcezo no ke. 130 89,4 81,2 27,5 53,7 8,2 23,7 104,9
A | XVIl |ke.131 1 npuxoxasi 13,9 13,9 13,9 2,59
2 |eapdepobHas 4,1 4,1 4,1
3 caHy3en 3,1 3,1 3,1
4  |xunas 10,2 10,2 10,2
5 Xunas 17,5 17,5 17,5
6 KyXHsI-crmosiosasi 28,4 28,4 28,4
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7 8aHHasi 3,9 39 3,9
HWmoezo: 81,1 81,1 27,7 53,4
barkoH 3,0 3,0 9,8
9 100Xus 2,9 29 58
10 |b6ankoH 2.4 24 8,1
Bcezo o ke. 131 89,4 81,1 27,7 53,4 8,3 23,7 104,8
A | XVil |ke.132 1 |npuxoxas 16,4 16,4 16,4 2,59
2 caHysern 4,2 4.2 4,2
3 2apdepobHas 3,6 3,6 3,6
4 KyXHsI-crmosiosasi 27,4 27,4 27,4
5 |xunas 15,8 15,8 15,8
6 XKunasi 12,3 12,3 12,3
7  |xunas 12,2 12,2 12,2
8 caHysen 55 55 55
HWmoeo: 97,4 97,4 40,3 57,1
9  |nodxus 2,4 2,4 4,9
10 |nodxus 2,1 2,1 4,2
Bcezo no ke. 132 101,9 97,4 40,3 57,1 4,5 9,1 106,5
UYimozo no 2-komHam. 178,8 162,3 55,2 107,1 16,5 47,4 209,7
Himozo no 3-komHam. 204,3 195,3 80,7 114,6 9,0 18,0 213,3
Hmoeo no keapmupam 383,1 357,6 135,9| 221,7| 255 65,4 423,0
/ mambyp 7,5 7,5 7,5
1l Mycopokamepa 0,5 0,5 0,5
riomewieHue 0nsi
npoknadku
UHXEHEPHBIX
Il |KoMMyHukayud 37 3,7 37
IV |kopudop 4,7 4,7 4,7
V  |kopudop 33,0 33,0 33,0
VI  |nugpmosoli xonn 13,3 13,3 13,3
f1IeCMHUYHas
VIl |knemka 11,8 11,8 11,8
VIl |nodxusi 7,2 7,2 7,2
HUmoeo 81,7 74,5 81,7 7,2 81,7
Bcezo no XVIl amaxy: 464,8 357,6 135,9 221,7 25,5 74,5 81,7 72,6 504,7
A | XVl |ke.133 1 npuxoxasi 16,5 16,5 16,5 2,58
2 caHysern 5,6 56 56
3 XKunasi 12,0 12,0 12,0
4 JKunasi 12,4 12,4 12,4
5 |xunas 15,9 15,9 15,9
6 KyXHs1-crmosoeasi 27,7 27,7 27,7
7 |eapdepobHas 3,6 3,6 3,6
8 |caHysen 4,1 4,1 4,1
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HMmoezo: 97,8 97,8 40,3 57,5
9  |nodxus 2,0 2,0 4,1
10 |nodxus 2.4 2,4 4,9
Bceeo no ke. 133 102,2 97,8 40,3 57,5 44 9,0 106,8
A | XVl |ke.134 1 |npuxoxas 13,7 13,7 13,7 2,58
2 8aHHasi 3,9 3,9 3,9
3 KYXHsi-cmorosasi 28,3 28,3 28,3
4 Xunasi 17,4 17,4 17,4
5 Xunasi 10,2 10,2 10,2
6 caHysen 32 3,2 3,2
7 2apdepobHasi 4,0 4,0 4,0
HUmoeo: 80,7 80,7 27,6 53,1
8 |6ankon 2,4 2,4 8,1
9  |nodxus 2,9 29 5,8
10 |6ankoH 3,0 3,0 9,9
Bcezo no ke. 134 89,0 80,7 27,6 53,1 8,3 23,8 104,5
A | XVill |ke.135 1 |npuxoxas 13,9 13,9 13,9 2,58
2 e2apOepobHasi 4,0 4,0 4,0
3 caHysern 3,1 3,1 3,1
4 |xunas 10,1 10,1 10,1
5 Xunas 17,5 17,5 17,5
6 KyXHsi-cmorsosasi 28,3 28,3 28,3
74 8aHHasl 3,9 3,9 3,9
Hmoeo: 80,8 80,8 27,6 53,2
8  |b6ankoH 3,0 3,0 9,9
9  |nodxus 2,8 2,8 5,7
10 |6ankoH 2,4 2,4 8,0
Bcezo no ke. 135 89,0 80,8 27,6 53,2 8,2 23,6 104,4
A | XVl |ke.136 1 npuxoxasi 16,4 16,4 16,4 2,58
2 caHyser 4,1 4,1 4,1
3 2apOepobHasi 3,6 3,6 3,6
4 KyXHsi-crmorsosasi 27,5 27,5 27,5
5 Xunasi 15,9 15,9 15,9
6 |Xunas 12,2 12,2 12,2
7  |xunas 12,0 12,0 12,0
8 caHysen 56 56 56
HMmoezo: 97,3 97,3 40,1 57,2
9  |nodxus 25 25 5,0
10 |nodxus 2,1 2,1 4,1
Bcezo no ke. 136 101,9 97,3 40,1 57,2 4,6 9,1 106,4
Himoeo no 2-komHam. 178,0 161,5 55,2 106,3 16,5 47,4 208,9
Yimoeo no 3-komHam. 204,1 195,1 80,4 114,7 9,0 18,1 213,2
Hmoeo no keapmupam 382,1 356,6 135,6 221,0 25,5 65,5 422,1
I __|mambyp 74 7,4 7.4
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1 Mycopokamepa 0,5 0,5 0,5
romeuwjeHue 0nsi
rpoknadku
UH)XEHEPHBIX
Il |komMmyHukauuli 3,7 3,7 37
IV |kopudop 4,7 4,7 4,7
V  |kopudop 33,2 33,2 33,2
VI |\nugpmosoi xonn 13,3 13,3 13,3
1eCMHUYHast
VIl |knemka 11,8 11,8 11,8
Vill  |nodxus 7,3 7,3 7,3
HMmoezo 81,9 74,6 81,9 7,3 81,9
Bcezo no XVIll amaxy: 464,0 356,6 135,6 221,01 255 74,6 81,9 72,8 504,0
JNiecCmHuyHas
yepdak / Kriemka 11,8 11,8 11,8
rnomeuwieHue
Il |npoducmku 3,6 3,6 3,6
Il |nodxus 6,2 6,2 6,2
HWmoezo: 21,6 15,4 21,6 6,2 21,6
nnaH Ha omm. 2,60
+54,27 / KomernbHasi 19,8 2,95 19,8 19,8
IECMHUYHasi
II__|knemka 34 3,4 3,4
Il |eeHmkamepa 13,5 3,00 13,5 13,5
Bcezo nyiiaH Ha omMm
+54,27 36,7 . 36,7 36,7 36,7
Bcezo no 1-komHam.: 4063,5 3795,4 1533,9| 2261,5| 268,1 666,6| 4462,0
Bcezo no 2-komHam.: 2179,6 2080,5 1028,0| 1052,5 99,1 227,01 2307,5
Bcezo no 3-komMHam.: 408,4 390,4 161,1 229,3 18,0 36,1 426,5
Bcezo no keapmupam : 6651,5 6266,3 2723,0| 3543,3| 385,2 929,7| 7196,0
Bcezo no nomeuw,eHUsIM
obuezo nosib308aHuUsI: 2063,4 1933,7 1933,7| 2063,4| 129,7| 20634
Bceeo no domy: 8714,9 8200,0 2723,0| 3543,3| 385,2 1933,7| 2063,4| 1059,4| 9259,4
Ilnowade 30aHus-(C /100X.,
6arikoH., kopudop, siecm. Kiem.)
(Mpuka3 MuH3KkoHOMpa3eumus
Ne90 om 01.03.20162.) 10325,7




